® 17T T E K
BHAAIER | BiHiNo. |5 & 4 A TN H 5 b=} iE | PR
13:001 1 |7¥F27 K—ph—AEFF—W W R 2 1 2 0:02:00
13:02] 2 |7~FaT KM=k V'a=T wQ YR 4 1 4 0:04:00
13:06] 3 |T<FaT K—-Mr—h CHk WT VS 5 1 5 0:04:00
13:10] 4 |7'm F7VTAVhY CDk RP VS 2 1 2 0:04:00
13:14] 5 |7=FaT K—-Mr—h Bk WT VS 5 1 5 0:04:30
13:18] 6 |7'm FFUTAHY Bk CS VS 4 1 4 0:04:00
13:22] 7 |TxFaT K-v—b R THE WTFQ | 7R 7 1 6 0:08:00
13:30| 8 |7'm IFUT AV T CSRPJ | ¥k 9 2 6 0:20:00
13:50 YARINE Y RIA D 0:20:00
14:10] 9 [7~Fa7 K—i—4 ¥ F—W W N7 2 1 2 0:02:15
14:12] 10 |7°w 5707 AV CD#k RP R 2 1 2 0:04:30
14:17) 11 |7~FaT &—=M—h V'a=7 wQ N7 4 1 4 0:04:30
14:21 12 |7<FaT? K—mr—bh Cik WT R 5 1 5 0:04:30
FHX ToFaT K—V—A %= W, 78 7707 AU CDk,
14:26 . R . 0:08:00
T=FaT K =—h V2T TeFaT K —Nh—h Chk
14:34) 13 |7<FaT K—mr—b Bk WT R 5 1 5 0:04:30
14:38] 14 |7'm 97T AVhY Bi#k CS N7 4 1 4 0:04:30
14:43] 15 |7~Fa7 K—Vb—h R THE WTFQ | RB 6 1 6 0:09:00
14:52| 16 |7°m 9707 AV R FHE CSRPJ | kW5 6 1 6 0:12:30
15:04 RER 79Fa7 K —M—h Bk, 7°0 5707 AV hY Bk, 0:10:00
TFaT W—Nh—b BTHE, 70 TTUT AN BT, A4 A

15:14 YARINE Y RIA N 0:21:00
15:35 E=— 0:15:00
15:50( 17 [7=FaT 7707 By X - C C R 2 1 2 0:02:00
15:52| 18 |7vFaT F7VTAVhY V2= CS HEIR 3 1 4 0:04:00
15:56] 19 |7m K —mi—4 CD% WT VS 4 1 4 0:04:00
16:00[ 20 |7vFaT TTUTAUAY ER TR R HEPR 4 1 4 0:02:00
16:02| 21 |7vF2T F7VTAhY Bk CR HER 4 1 4 0:04:00
16:06| 22 |7°m &K'—ppr—bh Bk FQ YR 4 1 4 0:04:00
16:10| 23 |7vFaT F7UT AN S THE CSRP | ¥R 7 1 6 0:08:00
16:18| 24 |7°m F—nmn—h RFHE WTVFQ| ¥Epk 8 2 6 0:20:00
16:38 YRINE AL L 0:20:00




BHAAIER | BiHiNo. |5 & 4 A TN H 5 b=} Wi PR
16:58| 25 [7<FaT F7VTAAY X C C R 2 1 2 0:02:15
17:01| 26 |7~FaT F7VTAVNY ¥ azT CS N 4 1 4 0:04:30
17:05| 27 |7w K —pnr—h CD#R WT N 4 1 4 0:04:30
17:10 28 |7vF2T F7VTABY ER =R R N3 4 1 4 0:02:15
e KW TFaT F7VT AN € R F— C, TFaT F7VT AN v a=T | 0:08:00
78 K==k CD#k, T~FaT 7707 A0 £ % F— R
17:20| 29 |7<F2T F7VTAhY Bk CR N7 4 1 4 0:04:30
17:24] 30 |7°w &K' —mr—bh Bk FQ K5 4 1 4 0:04:30
17:29] 31 |7vFaT F7UT AV b S ThE CSRP | s 6 1 6 0:09:00
17:38] 32 |7°m F-wn—h RFHE WTVFQ| R 6 1 6 0:12:30
1750 Fi X T~FaT T7UT AN Bk, 70 K= viv—b Bk, 0:10:00
TFaT TTVT AN TRFME, 70 K —Mv—h TRTFME AT VR
18:00 =T




